
EXERCISE 9 – HOMEWORK 
Complete the second sentence so it has a similar meaning to the first sentence. You may 
need to use a correct form of the word in brackets or a time expression.  
 
1. Jane doesn’t work at this company. (LEAVE) 

Jane............................................................................................... this company.  
2. This is the first time I’ve been to the United States. (NEVER) 

I...................................................................................  the United States before. 
3. That’s strange! My wallet isn’t here! (DISAPPEAR) 

That’s strange! It................................................................................................ . 
4. I’m still writing this report. (FINISH) 

I..................................................................................................................... yet. 
5. We started working here three years ago. (FOR) 

We.................................................................................................... three years. 
6. This Internet connection is slower than before. (DIDN’T) 

This Internet connection................................................................ to be so slow. 
7. The meeting finished late so we went straight back to the hotel. (FINISH) 

We went straight back to the hotel because................................................. late. 
8. In the past, the factory produced 4.000 units every month. (USED) 

The factory.................................................................... 4.000 units every month. 
9. Franz left before my arrival. (ALREADY) 

By the time I arrived, Franz................................................................................. . 
10. Nigel felt sick from eating too many cakes. (BECAUSE) 

Nigel felt sick because he ............................................................too many cakes. 
 

 


